= 0.0 Hybrid = 0.0

Noise Difference FEB

2ouUaJlal)iq 2sI10N

300 400 500 600 700
Channel Number

200

100



Noise Difference FEB = 0.0 Hybrid = 1.0

15 | | | | | |

Moise Difference

—10

0 100 200 300 400 500 600 J00
Channel Number



Noise Difference FEB = 0.0 Hybrid = 2.0

0 T T ] T T T T
-10 : . . 7
2
_20 i |
9 30} |
B
v &
L
= B )
= 40
B
R
2 —50 | |
_ED - s |
p
_?ﬂ . !
—80 | | | | | | &
0 100 200 300 400 500 600 700

Channel Number



Moise Difference

20

—20

—60

—80

—100

—120

Noise Difference FEB = 0.0 Hybrid = 3.0

Channel Number

P
@
i . |
0 100 200 300 400 500 600

700



30

20

10

Moise Difference

—20

—30

~40

Noise Difference FEB = 1.0 Hybrid = 0.0

M‘d

0

100

200

300 400
Channel Number

500

600

700



Moise Difference

80

60

40

20

—20

~40

Noise Difference FEB = 1.0 Hybrid = 2.0

0

100

200

300 400
Channel Number

500

600

700



Moise Difference

50

45

40

35

30

25

20

15

Noise Difference FEB = 1.0 Hybrid = 3.0

200 300 400 500
Channel Number

700



Moise Difference

20

—20

—40

—60

—80

—100

—120

—140

—160

Noise Difference FEB = 2.0 Hybrid = 0.0

ﬁ‘l e LA
»
L |
b
@
&
#
| o® ® |
&
0 100 200 300 400 500 600

Channel Number

700



Moise Difference

50

—50

—100

—150

—200

Noise Difference FEB = 2.0 Hybrid = 1.0

0

100 200 300 400 500 600
Channel Number

700



Moise Difference

20

15

—10

—15

—20

=25

Noise Difference FEB = 3.0 Hybrid = 0.0

I e o |
[ ]
- . _
0 100 200 300 400 500 600

Channel Number

700



Moise Difference

30

25

20

15

10

Noise Difference FEB = 3.0 Hybrid = 1.0

200

300 400
Channel Number

500

600

700



Moise Difference

40

30

20

10

—20

—30

~40

Noise Difference FEB = 3.0 Hybrid = 2.0

e &
o &
S
L Py 2 & |
&
3 ‘ - k
e ®
e ° 'M
d = ‘
] 1 ® < = T
L " |
®
&
5
0 100 200 300 400 500 600

Channel Number

700



Moise Difference

50

40

30

—30

Noise Difference FEB = 3.0 Hybrid = 3.0

0

100

200 300 400 500
Channel Number

600

700



Moise Difference

10

Noise Difference FEB = 5.0 Hybrid = 0.0

100

200 300 400 500
Channel Number

600

700



Moise Difference

Noise Difference FEB = 5.0 Hybrid = 1.0

100

200 300 400 500
Channel Number

700



Moise Difference

12

10

Noise Difference FEB = 5.0 Hybrid = 2.0

200 300 400 500
Channel Number

600

700



Moise Difference

o

LN

I
|

Noise Difference FEB = 5.0 Hybrid = 3.0

200 300 400
Channel Number

700



Noise Difference FEB = 6.0 Hybrid = 0.0
12[] | | | | | |

100

80

60

40

Moise Difference

Naga oo SOWREE. SO

—20

0 100 200 300 400 500 600 J00
Channel Number



10

—20

—30

Moise Difference

~40

—50

—60

—70

Noise Difference FEB = 6.0 Hybrid = 1.0

w

SO gty

0

100

200

300 400
Channel Number

500

600

700



Moise Difference

Noise Difference FEB = 6.0 Hybrid = 2.0
1{]{] | | | | | |

60 .

20 1

=
L
‘ 2 ‘ l

b = &
—40 + |
60! 4

L
_8{] | | | | | |
0 100 200 300 400 500 600 700

Channel Number



Moise Difference

30

20

10

~40

—50

Noise Difference FEB = 6.0 Hybrid = 3.0

I I . o : ' I
L]
P | | | | | |
0 100 200 300 400 500 600

Channel Number

700



Moise Difference

30

25

20

15

10

Noise Difference FEB = 7.0 Hybrid = 0.0

ittt B i

0 100 200 300 400 500 600
Channel Number

700



Moise Difference

25

20

15

10

Noise Difference FEB = 7.0 Hybrid = 1.0

100

200 300 400 500
Channel Number

600

700



Moise Difference

50

30

—30

~40

Noise Difference FEB = 7.0 Hybrid = 2.0

100

200 300 400 500
Channel Number

600

700



35

30

25

20

15

Moise Difference

—10

Noise Difference FEB = 7.0 Hybrid = 3.0

0

100

200

300 400
Channel Number

500

700



Moise Difference

10

Noise Difference FEB = 8.0 Hybrid = 0.0

0 100

200 300 400 500
Channel Number

600

700



Moise Difference

Noise Difference FEB = 8.0 Hybrid = 1.0

100 200 300 400 500 600
Channel Number

700



Moise Difference

30

25

20

15

10

Noise Difference FEB = 8.0 Hybrid = 2.0

200 300 400 500
Channel Number

700



Moise Difference

30

25

20

15

10

Noise Difference FEB = 8.0 Hybrid = 3.0

100

200

300 400
Channel Number

500

600

700



Moise Difference

Noise Difference FEB = 9.0 Hybrid = 0.0
40 | | | | | |

30

20

10

|
P
o

T

I

~40

—50

0 100 200 300 400 500 600 J00
Channel Number



Moise Difference

20

—20

—40

—60

—80

—100

Noise Difference FEB = 9.0 Hybrid = 1.0

&
P
L
L
0 100 200 300 400 500 600

Channel Number

700



